


PARTS LIST

M6*15mm

1 of 7

Thank you for purchasing this product. Please check and make sure you have all the parts available 

ASSEMBLY INSTRUCTIONS

A

8 B

C

D
E
F

G

H

NO. Description QTYSketch

I

J
K

4 PCS

4 

4 

4 

8 
4 

1 PC

4 

4 

8 

L 16

M

N

1 PC

4 

HARDWARE LIST

8 Sets
P
Q

R

S
T

U

QTYSize

V

52 Sets

16 Sets

16 Sets

8 O

Note: Straight Allen Key (V) is used with electrical drill.

Straight Allen Key

Allen Key

Bolt

Bolt

Bolt

Bolt

Post

Side Frame

Long Top Frame Beam

Small Corner Beam

Middle Top Beam

Mesh Pipe

Base

Top Connector 

Corner Connector

Middle Connector

Corner Support Bar

Plastic Holder

Canopy

Mesh

Peg

Wrench 1 PC

1 PC

1 PC

M1 M2

before you start with the assembly..
Note: Straight Allen Key (V) is used with electrical drill.

Description SketchNO.

M6*15mm

M6*30mm

M6*45mm

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

Tools needed: double side ladder. Please use double side ladder instead of single straight ladder.  
Caution: Small parts-Choking Hazard- Not for children.

 When assembling, Do NOT lean the ladder against the poles for support in case of falling. 



A
A

A

G

G

I

I

B

J
B

B

B

2 of 7

STEP 1

STEP 2

M6*15mmP 20 SetsBolt

P 

P 

P 

Q 

R 

Q 

R 

M6*15mm

M6*30mm

Bolt

Bolt

 8 Sets

 8 Sets



B

B

F

F

L

F

L

J

3 of 7

STEP 3

STEP 4

BoltS 16 SetsM6*45mm

S 

S 

P 

B B

P P 

B B

A

A

F

F

L

Bolt M6*15mm 16 Sets



C

E C

E

HE

C

E

C

H

C

4 of 7

STEP 6

A

K

B

B

K

A

B B

A

B

STEP 5

M6*15mmP 16 SetsBolt

P P P 

E



5 of 7

STEP 7

M2

C

M1

M2

E

M2

E

M1



6 of 7

STEP 8

STEP 9

C
D

I

D

R 

E

J

R 

M2

O

D

M2

G

M6*30mm 8 SetsBoltR 



Note: This gazebo is meant to be used for decorative and sunshading 
purposes only and is not meant to withstand any elements of the

       

Please read these instructions carefully before starting assembly.  

1). Do not cook underneath gazebo.
2). Do not ignite fireworks underneath gazebo.
3). Please keep the parts list, it could be useful to reorder some
parts for service if necessary.

N

N

F

7 of 7

STEP 10

F

N

weather.


